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If 
r r 

a = |(1 +/5), b = i(l -75), then 2_ZJL = F r , 

the Fibonacci number . In that case , 

s n ( r , i d + y s ) , ±(1-^)) = F ; . 

Also solved by the proposer. 

XXXXXXXXXXXXXXX ' 

A DIGIT MUSES* 

Oh! 
4 
2B 
No ze ro 
In the world of math! 
Would that I were like that g rea t 
Built into the s t ruc tu re of the un iverse and a r t 
The ideal of ideals dividing a l l things in propor t ions of gold —- a paragon! 

Bro ther U. Alfred 

This poem has the dist inct ion that the number of syl lables in each 
line p roceeds by the sequence: 1, 1, 2, 3, 5, 8, 13, 21 . 
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